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	X=-10400
	
	X= 7000

	47500
Nero Manganese
Y = 38000
	
	23350
Indischgelb
Y = 36000

	66200
Bianco Titanio
Y = 24000
	
	41600
Terra Ercolano
Y = 24000

	45200
MiloriBlau
Y = 10000
	
	11140
Aegirin
Y = 10000

	43500
Giallo Cobalto
Y = 0
	
	40503
Roter Bolus
Y = 0

	23610
Alizarin
Y = -11000
	
	45651
Blutstein
Y = -11000

	10201
Azurite
Y = - 23500
	
	36005
Indigo Blu
Y = -23500

	48700
Caput Mortum
Y = -33000
	
	Zinnaber
Y = -33000



Lapislazzulo lato B dietro primo campione (X= +2500, Y = 36000)
